PICKit2 kion

O WNBE

1=Vpp

2 =Vpp

3 = Vss (GND)
4 =PGD
5=PGC

6 = PGM (Aux)




Példa a bekotésre,

ha nem a célaramkorben programozzunk a PIC-et:

1=Vep
2=1'v'r|][||
3=V55
4=PGD
5=PGC
6=PGM-

= nem keall bekdtnl)

40-Pin PDIP

PIC16F877A

MCLR/VPE — i NV h_——- RE7/PGD
RAC/AND «—=[] 2 50 [B=—d— RBG/PGC
RATAN] =-—=[]3 38 [] =—= RES
RAZIANZNREFCVREF w—w [ 4 37 [] =—= RB4
RAMAMIVREF* [ 5 35 [ =—» RB3IPGM
RALTOCKICIOUT =[] & 35 [] == RB2
RAS/ANA/ESICZ0UT ~—=[7 %4 [ =—= RB1
REQ/RO/AMNS =[] 8 33 [] =—= RBOINT
REV/WR/ANE =—=[] g
REZICS/ANT =[] 10
VLD 30 []=—= ROT/IPSPT
| 20 [] == ROGIPSPE
OSCH/CLKI — =[] 13 28 [] == ROS/PSPS
OSC2CLKO - [T 14 37 [] =—= ROD4/P5P4
REO/TIOSOITICKI -—e[]15 26 [] = RCTIRX/IDT
RCATIOSICCPZ =[] 15 75 [] == ROCBTXCK
RCZICCF1 =[] 17 24 [ =—e RCS/SDO
REVECKSCL =—=[] 18 23 [ =—= RC4/SDISDA
RDO/PSPD - [ 19 22 [ =—= ROIPSPI
ROVPEP] =[] 20 21 [ =—= RDZIPSFZ




